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i W refects, mfe(-f i
:\g_.\ Exampte : Show thet EQqp= ié ;,M}]an& M, dre Tamg Mgchnﬁ and LML) T NOT decldeble,
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DEEINITION ! Let M bea TM atd w 6¢ o ingut sfrng
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\‘C‘al (_cwf:‘g\qu'f‘mn o Mgaw | agn acceph condeguenrtion,
~ CEAECTING CadBNTATIO NAL HSTORY 15 similar but cpwpld be o f‘ﬁﬂrf (onLgrorker,
ek 16 M Lonps 60w Yhen dhere s NO compiialenal htsdony of M on v,
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Comeo )
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~ Lemmea? Let M be an LBA with q dodes ond g symbols o ¥ v}a?e Tfm ace emm‘@)
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- sond mb‘?e
R o et b
| inslonge 0% the post cerepundarce ' ﬂ%
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| _jbfﬁgm (if A< T;nd B Is dodddble dhen A f _&a,c dabli
7 Khosfs Seece &: is decid\ble, +he ka‘Tu: Machme hat dectdes K. |
| Shee A T3 Wap P’(‘i« ”Ele o‘o 9 (s —mﬂ), Yhore fr-a racfuc;r#bg Fof A B,
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Kooty Snw B Iy f‘eﬁr.uMlz' snumeaable fere Jr a 'T/L R_that attepic B.
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¥ W EPC Yren SEIED = Roaceply Jw) = N ocepts w,
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Outpet <M, W,y 7 LM, ) ==
My, Y € Arw® = I deesnt baept w = L(ﬂ‘l> 5 M M € E@'TM

= ..‘"‘_”‘ '. ’ff‘f‘f ”"“‘ff’,_“f‘ i@f"",_.,_ C b -5 i
’f'ES‘f' "quer LO@C - | | | Docls i, a2t -l < |
ol || . b d il |
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&%‘Eue vartable 5) mbol Is a Herm., 1 |
is an n-ady fnetfon symbel, and 40, . ta are Jeomg, then f(ﬁ,,..ﬂc&) Is o Yerm,
Bramgle: Adthmete with steadard’ vocabulagy : | |
X, K-g, X Xey oot dems Evole' Koy & -(x‘@ xtky& +(K'ftf9)ﬂ
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(). H‘ P isan wary cpaeos. dnd Y, ey tn Oredeons , then P@E, . A I g foemula,
(@) £ ﬂfnnd B are formulas, +hen -rﬂ AAR, AvB an formulas.
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Dedenidion ! Ane eceurmence of a vartoble x fa o formula A T3 mli&‘l R H-q‘()()@ﬂfs
M oo subformula OF Fhe oem ¥ B or 3XE.
Otherw e, Hhis ocuwence it calied _
Targle: o Fy ('xzuj) dhe occumence o & s TLEE while both gccunendes
od e
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